¥=66850
Y=66900

i s 3 BEIFEMBRE ERHEBEEISES TEK + + ¥ I
FRiE . /NS ERLEMT S=1:500
R
L IZE:E“EE - ERRKREMELER L=75m f
R b
® N
o .
i .ﬁ; EEAR/NMEE  W=8. 1m
N 129
X=168400 + + + ﬁ- + 'F::ll? + + A=168400
N = ZESS/MER W=13. 0n
® H
it +H
m
iR
=
H
-+
"l
" z213 ll '''''
L-Q:‘{:“ ‘\!2__ /
X=168350 + 5 g i - + X=168350
X=168300 + X=168300
EERBAIRE  W=23. 4n A #l
1 FABAIAX R
BB XRE
X=168250 Jr

X=168250

£ E ER 26 HFE
[ 3 BH Lt £ B B B
Iss B HBFEEIS
# ® hEHBtEMRB
mEZ| ¥ & =
# R| 1:500 |[mm#Es|
tmgRE| ¥ & B B
X
BEER N H B & F B OB

i | A8

A=168200

+
i
=
i
%

+

¥=66850
Y=66500
Y=66850
Y=67000

¥=67050
¥=67100




